ATHIR Roll No.

No. of Questions — 24 VU_39— l—HiSt. I

No. of Printed Pages — 7

TS SUTLAT U e, 2010

Yehfedeh Tt I — el ( OPTIONAL GROUP I — Humanities )

gfagrd — 9gq U

( HISTORY — First Paper )
9qg : 3 i HUS

quiisk : 60

rerTteit o e arr fder :
GENERAL INSTRUCTIONS TO THE EXAMINEES :

fa

1.  Tenef TageH 91 93 99 W Ak sifqerdd: faw |

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. Y T F fet 9 iU TR A fFE g # qfe / R/ faeag g1 W
fe=t e o 9eH il W& A |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. 94l g w1 fqard € | 999 A 239 24 H il fasmeq § |

All the questions are compulsory. There are internal choices in
Question Nos. 23 and 24.

4. YIE T H SN & TS IWR-YKew H & fag |

Write the answer to each question in the given answer-book only.
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5. oy & T ¥ sifer TuH oi aret 9m ¥, 37 9t 9rl 1 T T WY waq
farg |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

6. U HHIG 2H 6 A TR T € |
Question Nos. 2 to 6 are very short answer type.

7. U HHS 7H 15 T TAE U9 1 I AN U ufenat § e |
Question Nos. 7 to 15 are to be answered in about five lines each.

8. U HU%h 16 T SW YR & a1 gHfas § Aferd ifea |

Mark the places on the map of India for answer to Question No.16.
9. U HH® 17 ¥ 21 T Tdh Y 1 I I 1S Uil # SIS |

Question Nos. 17 to 21 are to be answered in about eight lines each.
10. U A% 22 24 Th hl T IR o9 5 J81 H ST |

The Question Nos. 22 to 24 are to be answered in about 5 pages
each.

11. 9 A% 1% IR 90 (i, i, ili 997 iv ) & | T 91 o S & 9R faehey
(3, o, @0 ) § | el fomey o1 STweR SwR-Yfegent § ferEr drfersn
ERIETOGIC R

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Sour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 Rk e ST T TSR
Question No. Correct letter of
the Answer
1. (1)
1. (i)
1. (iii)
1. (iv)
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1. () YT we H S & fue-fis smaeAl &t Si" 9R We 9 9ga aTe

SAfeRr ot
(31)  SRIM-TU-ST% dreh! () HWR-T-9&X
(|  HR-T-I (7) HR-T-W W |

The officer to check various applications submitted by the people
and forward them to the emperor was

A) Daroga-i-Dak Chowki (B) Mir-i-Bahar
1

(®)] Mir-i-Arj (D) Mir-i-Bar. 3

() T @ H 98 fH w99 W AR R TIE wHA w UG THhRE IR
T STAM R S Fuifia st S areft gomett off
(31)  BEETeR ()  *Thd
(W) T e (2) wHaEH |
The land revenue system prevalent in Mughal period to first
measure the land and then per unit of the produce for each crop
was calculated, was called

(A) Hastobad (B) Kankut

(@) Nask system (D) all of these. %
(ili) ST THARA T R BT 9N § Yehtiora qiAehr of

()  HAOR R (9) ST

(¥ e stEer (3)  wE |

The magazine published by Raja Rammohan Roy in Persian

language was called

(A) Sambad Kaumudi (B) Brahmanical

(@) Miratul Akhbar (D) Saraswati. %
(iv) T faee< &1 39eRiE STIYfd Ham arl §ad 9

(1) T T O] () TS qHERA T

(H) SATCHRIH oG () THFS WHEH |

The saint who blessed Swami Vivekananda with divine
perception was

(A) Swami Dayanand Saraswati

(B) Raja Rammohan Roy

© Atmaram Pandurang

(D) Ramakrishna Paramahamsa. %
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10.

4
1662 Fo H IMES i HeALeyal ¥ faoTR & g3 dfy gru foramsh = «F-9 &9
JH LA ?
In 1662 which area did Shivaji get by mediation of Shahji from treaty
concluded with Bijapur ? 1

TSl Tt H S8 St GEqul Al fohdeh g1 § grdt off ?
During the Mughal period with whom all the powers of the state were

vested ? 1
1857 %o I hif<1 o IRUIM &Y YRAE IEH H HIF-T1 Y@ qRad= 3T ?
Which main change was brought about in the Indian administration as
a result of revolution of 1857 A.D. ? 1
14 JAE, 1942 To H YRAT Ta=dl TUM § HH-T1 T<IeA & fhan T
o1 ?

Which movement was started on 14th July, 1942 during the Indian
freedom movement ? 1

A w4 IRA H fF GER &q H- TS IRe & off 2

Which system was introduced by Lord Cornwallis for land reform in

India ? 1
IS AR & WIS o R0 faf@Ey |
Write down the causes of the defeat of Ibrahim Lodi. 2

3The o T T 379 Bl dl 3TEHe g1 W ford g fas g wad ?

Had you been Akbar, how you would have conquered Asirgarh fort ?
2

W % 45 | Y arer | UM G W fIeardsd i ARG oI o | 9% %
YR R 3794 fa=aR gehe sifsa |

Before the battle of Khanwa, Babar had charged Rana Sanga of
treachery. Express your opinion in the light of facts. 2

& TTERTGY & SIS R T o 918 3T foedl & fau e ifa< fdg =+t
ofifq T TehR 1 Fifq 1 STERw & ?

After the execution of Guru Tegh Bahadur by Aurangzeb, what policy
would you have adopted for the Sikhs as Guru Govind Singh ? 2
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11.

12.

13.

14.

15.

16.

5

T T § ' WE-T-9H1 7S ARSI o Hacdl hl Seeid Hie |
Write down the duties of the official named 'Khan-i-Saman' during the

Mughal period. 2

“fafyea e ©d oTest 1 AW Wt 1857 o HI hifd HI STHHAAT hl
Teh RO o7 | YT &t Togar fag wifse |

“Lack of goal and ideal was also one of the reasons of the failure of
the revolution of 1857 A.D.” Justify the statement. 2

e fofas T g fomr vl § 9@ 9rd & fgda fova gg ° wfmfoa
fora T o1 | 3Eeh foiy o 319 Wk & & A1d fRg ger skt Hfifd w1 srERm
F ?

Without consulting the Indians the Viceroy Linlithgow dragged them
into the Second World War as party. In protest 'as a Congressman'
what policy would you have followed ? 2

IRl &1 T & & fau 1™ yae fafoe =t wifa emg wi9-9 =
A ?

What would you have done like Ram Prasad Bismil to cooperate with

the revolutionaries ? 2
FHfere faem =t g fagivarsti &1 auiq Hifsy |
Describe the main features of the Cabinet Mission. 2

feu v vyra & W@ gEfes § fFAfafad e o sifea wifsa
(31) ST
(9) g

(|) hersdl ( hicehl )

() &1 |

Mark the following places on the given outline map of India : 2
(@) Agra

(b) Patna

(c) Calcutta ( Kolkata )

(d) Lucknow.
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17.

18.

19.

20.

21.

22.

6
HYR Al & g1l ¥ gAY & fau feher w1 & fow smeer TiW wEl q%
IR & ? e gfgd S fafeu |

How far was prince Khurram responsible for loss of Kandhar forever

to the Mughals ? Write down the answer giving facts. 3

W

1857 o &I Shif~d o AT RN hl Soi@ HIST |

Write down the social causes of the revolution of 1857 A.D. 3

grrferes & | yafed o FAaar e @ gar< 9t 3 GEuRa & ga
fopon et oft yRdTa ToTst H IRl O B S § | S9! GURA % SUT 9dEt |

The social evils which Swami Dayanand Saraswati tried to reform are

still prevalent in Indian society. Suggest ways to reform them. 3

Tk IENMRG o A1d forfest sl & wRa & Il a1 3T & foash@ | 9 9eH
-k G Srerd S 2

As an industrialist during the British period which hurdles would you

have faced in the field of cotton industry ? 3

fgditar fava g5 & a8 give ot gaa RRufd &1 1 off IRd &1 wd=ar wifd &1
T RO A1 | 59k THA § e fafau |

The weak position of England after the Second World War was also

responsible for Indian independence. Write facts in its support. 3

ot TRMER fdeteh st 9Rd & Sa=dl <o | i W garT e |

Throw light on the role of Bal Gangadhar Tilak in the Independence

Movement of India. 6
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23. JUH ATA-AUST g5 TAY T g &l T8 XA &1 GfY &1 IROME o | 36 Ty
H g SAT-AUST I§ R YHR ST | HF HRIT, FAT T IROMHT T FhTal
ey |
arerar

"I ST HER el Wi YEST gel STl o WHA g8 o 1Y gedr & wHa o
T W 9\ SEre Hifsu |

The First Anglo-Maratha war was the result of the treaty of Surat
concluded by Raghunath Rao. In this reference throw light on the
First Anglo-Maratha war. Throw light on its causes, events and

consequences. 6
OR

"The Anglo-Mysore relationship started during the time of Hyder Ali

continued even during the reign of Tipu Sultan." Explain. 6

24, WA ARG H HERY < Shil~<hldl bl YfHer T Tkl Sy |

SR

et oft seifaeRt Rt Tifafafie @ eved TR on 11 ael % Wiy fag s

Throw light on the role of Maharashtrian revolutionaries in

Independence Movement. 6
OR

“The North-East was also not unaffected of the activities of the

revolutionaries.” Prove with facts. 6
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